BHAVANS SCHOLARSHIP-2020-21

CLASS XI (COMMERCE)

QUESTION OPTION 1 OPTION_2 OPTION_3 OPTION_4 ANSWER
look forward on
I seeing my friends again.
look forward to look forward at look forward for OPTION 2
Metaphor
‘He 1s as strong as an ox.” Identify the figure of speech.
Simile Transferred Epithet Personification OPTION 2
My grandmother is nearly ninety years old, but she’s striking the right note. as good as a mouse. as young as a nose. as fit as a fiddle.
OPTION 4
He is an incorrigible optimist. ‘Incorrigible’ means happy and contented beyond correction or reform foolish hopeful
OPTION 2
progressive promoting
The antonym of ‘coercive’ is gentle opinionated OPTION 3

It was he who put a spoke in my wheel. The underlined phrase means

tried to cause an accident

helped.in the execution of the plan

thwarted the execution of the pla

gave advice

OPTION 3




Identify the figure of speech used in the following line: oxymoron synecdoche transferred epithet
7| The hikers continued up the weary path. personification OPTION 4
The most fundamental economic problem is -------------
8 Health Security Export and Import Scarcity OPTION 4
What will happen to Marginal Utility when Total Utility is maximum and constant? Marginal Utility becomes neg|{ Marginal Utility becomes constant Marginal Utility becomes zero| Marginal Utility declines
9 OPTION 3
10[{Tally marks determines Class Width Class Boundary Class Limit Class Frequency OPTION 4
If the price of X ri this 1 t ' fi Y,h .
 price of goods X rises and this leads to decrease in demand for good Y, how are X and Y are substitutes X and Y are complementary goods . X and Y are supplementary goods
these goods related ?
11 X and Y are inferior goods OPTION 1
If the scatter points are widely dispersed around the line ,the correlation is..............
12 low high perfect None of these OPTION 1
The frequency distribution of two variables is known as:
13 Univariate Distribution Bivariate Distribution Multivariate Distribution Trivariate Distribution OPTION 2
14|°‘Change in quantity demanded ‘of a good is on account of change in Price of a related good Own price of the good Income of the buyer Taste OPTION 2




1S 2 major national programme designed to facilitate
investment, foster innovation, enhance skill development, protect intellectual property and
build best-in-class infrastructure launched on 25" September 2014 by the Prime Minister,

15|\ i Narendra Maodi Globalisation Make in India Start up India Liberalisation OPTION 2
Use of EDI (Electronic Data Interchange) technology to send and receive commercial
documents like purchase orders or invoices is an example of

16 B2B B2C C2C Intra B OPTION 1
“Bad debts due to non-payment of debts by debtors™ is an example of which type of
business risk?

17 Economic Human Physical Natural OPTION 2
What is the minimum amount for an electronic transfer of funds in case of RTGS?

18 Rs. 500 Rs. 1,00,000 Rs. 20,000 Rs. 2,00,000 OPTION 4
A person gets his stock worth Rs.1,60,000 insured for Rs. 1,80,000. A fire occurs and the
whole stock gets damaged. The insurance company admits a claim of Rs. 1,60,000 only  [Principle of contribution

19[and not Rs. 1,80,000. Identify the principle of insurance being applied in the above case? Principle of Subrogation Principle of Indemnity Principle of Insurable Interest OPTION 3

20|The structure in which there is separation of ownership and management is called Sole proprietorship Partnership Company All business organisations OPTION 3
Which of the following is not applicable in life insurance contract ? None of the above

21 Conditional contract Unilateral contract Indeminity contract OPTION 3
If closing stock is given inside the Trial Balance, it will be shown in the ------------------- :

22 Trading A/c Profit & Loss A/c Balance Sheet Trading A/c & Balance Sheet OPTION 3




Interest allowed by bank is Rs.500. What should be done in Bank Reconciliation
Statement if debit balance as per Cash Book is the starting point?

Rs.500 must be deducted.

Rs.1000 must be deducted

Rs.500 must be added

Rs.1000 must be added.

23 OPTION 3
Which account should be debited when an endorsed bill is dishonoured? Endorsee

24 Drawer Drawee Bills Receivable OPTION 2
Original cost of an asset is Rs 350000; its salvage value is Rs 25000; useful life 5 years.

.. : . 18.57% p.a

Rate of depreciation under straight line method;

25 20% p.a 15% p.a 17% p.a OPTION 1
A briefcase purchased for Rs 800 for the son of a partner was debited to general expense a/

26 Rs. 880 Rs. 720 Rs. 800 Rs. 80 OPTION 3
During the financial year 2019-2020, Ashish had cash sales of Rs.7,85,000 and credit sales

27 Rs. 3,40,000 Rs. 10,10,000 Rs. 4,90,000 Rs. 5,65,000 OPTION 3
Varun bought goods from Tharun for Rs.2,00,000 at a Trade discount of 15% and Cash
discount of 2%. Calculate the amount of discount received if he paid 80% of amount

28|immediately. Rs. 2,720 Rs. 3,400 Rs. 3,000 Rs. 4,000 OPTION 1
The present governor of RBI is Shaktikanta Das, who was the first? Benegal Rama Rau

29 C D Deshmukh Manmohan Singh Osborne Smith OPTION 4
What is the full form of MTR, the name of the famous ready to eat food enterprise? Madurai Tiffin Rooms

30 Madras Tiffin Rooms Mangalore Tiffin Rooms Mavalli Tiffin Rooms OPTION 4




Who is known as “The Father of Indian Planning’?

31 Varghese Kurien M Visweswariah Gulsari Lal Nanda Mahalanobis OPTION 2
Banking

32|The term “Bull” and “Bear” is used. Investment Insurance Stock Exchange OPTION 4

33|Wuhan city is located in which Province of China Hainan Shandong Yunnan Hubei OPTION 4
BRAIN is to [ANRB as 78643 is to 46783

34 46378 46387 46738 OPTION 3
Twenty people shake hands with each other. How many handshakes will be there in total?

35 21 200 40 190 OPTION 4
586321 is to 268 as 94783219647 is to?

36 36812 63823 48437 46284 OPTION 4
In the following question, select the related word from the given alternatives. Spring:Summ

37 Sunday:Monday Thursday:Wednesday Tuesday:Friday Friday:Monday OPTION 1
If the length of a rectangle is increased by 20% and breadth is decrease by 10% what will

38|be its effect on its area? 8% increase 8% decrease 2% increase 2% decrease OPTION 1




In the following number series, how many such 8’s are there which are divisible by its
just preceding number but not divisible by its just following number?
2843285482678582482682486782

39 2 3 1 None of these OPTION 1
Vijay, Narain, Sukumar, Ravi and Bipin are taking part in a car race. Vijay is ahead of
Sukumar but behind Bipin. Bipin is ahead of Vijay but behind Ravi. Narain is in the

40|middle. Who is ahead of all? Vijay Sukumar Bipin Ravi OPTION 4
My brother 1s 562 days older to me while my sister is 75 weeks older to him. If my sister
was born on Tuesday, on which day was I born?

41 Sunday Thursday Wednesday Monday OPTION 2
While facing East you turn to your left and walk 10 yards. Then, turn to your left and walk

42 North - East North South East North West OPTION 4
Many business offices are located in buildings having two to eight floors. If a building has
more than three floors, it has a lift. If the above statements are true which of the following

43|must be true? Second floors do not have lifts|Seventh floors have lifts. Only floors above third floors ha|All floors may be reached by lifts. |OPTION 2

Negative Positive

In case of normal goods, the relationship between income and quantity demanded is:

44 Zero Infinite OPTION 2
Which state government launched Madhu App for school students?

45 West Bengal Odisha Andhra Pradesh Uttar Pradesh OPTION 2
Trial Balance of a firm shows Debtor Rs 40000, bad debts Rs 200 and provision for
Doubtful debts at Rs 1400. A 5% provision for doubtful debts is to be created on

46|Debtors. The amount of Debtors to be shown in Assets Rs. 38,000 Rs. 36,400 Rs. 41,200 None of these OPTION 1




47

India's rank in UNCTAD's Business-to-Consumer E-commerce Index 2019 is?

53rd

63rd

73rd

&3rd

OPTION 3

48

VIRUS is to VACCINE as EXAM is to ........

TRYING

PASSING

STUDYING

ATTEMPTING

OPTION 3




